Base Line Item Detail				Joseph M. Sanzari, Inc. A Joint Venture Line Total		Ferreira and Tutor Perini		D'Annunzio & Sons, Inc.		Halmar International LLC		El Sol Contracting & Construcion Corp		IEW Construction Group Inc.		Railroad Const
1 1D01SDP	Qty 1	UOM L.S.	Description Shop Drawing Preparation	Unit Price \$100,000.00	Line Total \$100.000.00	Unit Price \$77,494.89	Line Total \$77,494.89	Unit Price \$96,155.00	Line Total \$96,155.00	Unit Price \$50,000.00	Line Total \$50,000,00	Unit Price \$250,000.00	Line Total \$250,000.00	\$300,000.00	\$300,000.00	\$1,000,000,00
2 1D01LAY	1.00	L.S.	Construction Layout	\$450,000.00	\$450,000.00	\$972,601.34	\$972,601.34	\$2,000,000.00	\$2,000,000.00	\$500,000.00	\$500,000.00	\$1,500,000.00		\$602,455.24	\$602,455.24	\$500,000.00
3 1D10MOB	1.00	L.S.	Mobilization	\$4,470,000.00	\$4,470,000.00	\$4,590,000.00	\$4,590,000.00	\$4,650,000.00	\$4,650,000.00	\$4,750,000.00	\$4,750,000.00	\$3,750,000.00		\$4,839,523.69	\$4,839,523.69	\$4,000,000.00
4 1G01SCH	1.00	L.S.	Progress Schedule	\$30,000.00	\$30,000.00	\$57,758.58	\$57,758.58	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$150,000.00		\$38,786.45	\$38,786.45	\$50,000.00
5 1HFP0B	1.00	L.S.	Fuel Price Adjustment (NO-BID)	\$10,100.00	\$10,100.00	\$10,100.00	\$10,100.00	\$10,100.00	\$10,100.00		\$10,100.00	\$10,100.00			\$10,100.00	\$10,100.00
6 2B02REX	115.00	C.Y.	Roadway Excavation, Earth	\$65.00	\$7,475.00	\$187.47	\$21,559.05	\$250.00	\$28,750.00	\$350.00	\$40,250.00	\$175.00			\$4,973.75	\$100.00
7 2B15STS 8 2C01EMB	50.00 10.00	C.Y.	Stripping Topsoil Embankment, Common	\$5.00 \$40.00	\$250.00 \$400.00	\$34.52 \$104.01	\$1,726.00 \$1,040.10	\$250.00 \$400.00	\$12,500.00 \$4,000.00		\$3,250.00 \$1,650.00	\$175.00 \$175.00			\$2,487.00 \$1,372.60	\$80.00 \$150.00
9 2E01FEX	168.00	C.Y.	Foundataion Excavation	\$75.00	\$12,600.00	\$193.33	\$32,479,44		\$26.880.00	\$170.00	\$28.560.00	\$175.00		\$86.19	\$1,372.60	\$77.00
10 2E01CAL	34.00	C.Y.	Coarse Aggregate Layer	\$75.00	\$2,550.00	\$87.13	\$2,962.42		\$5,100.00		\$6,800.00	\$350.00			\$3,725.38	\$28.00
11 2G00022	16.00	Ton	Riprap Stone Scour Hole, 12" Thick, D50=6"	\$70.00	\$1,120.00	\$340.31	\$5,444.96		\$6,400.00	\$250.00	\$4,000.00	\$550.00			\$8,250.88	\$198.00
12 2H00007	3,747.00	L.F.	Heavy Duty Silt Fence, Black	\$8.00	\$29,976.00	\$6.45	\$24,168.15	\$6.00	\$22,482.00		\$41,217.00	\$15.00			\$28,252.38	\$8.00
13 2K01TPF	1,537.00	L.F.	Temporary Orange Plastic Fence	\$5.00 \$150.00	\$7,685.00	\$7.04	\$10,820.48		\$6,148.00		\$12,680.25	\$12.00 \$400.00		* * * * * * * * * * * * * * * * * * * *	\$8,253.69 \$49,698.55	\$6.00
14 2H00016 15 2M00011	109.00	Each Each	Inlet Filter, Type 2 Testing of Soils for Waste Classification	\$175.00	\$16,350.00 \$15,050.00	\$380.86 \$1,082.86	\$41,513.74 \$93,125.96	\$100.00 \$1,000.00	\$10,900.00 \$86,000.00		\$21,800.00 \$79,550.00	\$150.00			\$49,696.55 \$151,619.72	\$230.00 \$1,525.00
16 5ZO0018	1,686.00	Ton	Off-Site Disposal of ID-27 Waste	\$52.00	\$87,672.00	\$60.45	\$101,918.70	\$70.00	\$118,020.00	\$46.50	\$78,399.00	\$50.00			\$95,124.12	\$50.00
17 3BAPA0B	1	L.S.	Asphalt Price Adjustment (NO-BID)	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$5,000.00		\$5,000.00	\$5,000.00	+ - /		\$5,000.00	\$5,000.00
18 3B26TAC	200	GAL	Tack Coat	\$40.00	\$8,000.00	\$7.02	\$1,404.00		\$4,000.00		\$1,400.00	\$40.00			\$1,176.00	\$6.00
19 3B30CLS 20 3B31CLS	12,000.00 24.000.00	L.F.	Cleaning Inside Shoulders Cleaning Outside Shoulders	\$0.25 \$0.25	\$3,000.00 \$6,000.00	\$0.35 \$0.35	\$4,200.00 \$8,400.00		\$12,000.00 \$24,000.00		\$6,000.00 \$12,000.00	\$2.50 \$2.50	* /	70.00	\$7,080.00 \$14,160.00	\$0.50 \$0.50
21 3B45HPP	10.00	Ton	High Performance Cold Patch	\$300.00	\$3,000.00	\$231.03	\$2,310.30	\$350.00	\$3,500.00		\$3,750.00	\$3,000.00		* * * * * * * * * * * * * * * * * * * *	\$1,175.40	\$300.00
22 3B32HMA	385	Ton	Hot Mix Asphalt 12.5M 76 Surface Course	\$500.00	\$192,500.00	\$329.34	\$126,795.90	\$400.00	\$154,000.00		\$115,500.00	\$350.00			\$226,252.95	\$305.00
23 3B00002	5.00	Ton	Hot Mix Asphalt 19M64 Intermediate Course	\$500.00	\$2,500.00	\$329.34	\$1,646.70	\$900.00	\$4,500.00	\$250.00	\$1,250.00	\$500.00	\$2,500.00	\$330.53	\$1,652.65	\$800.00
24 3B33HMA	7.00	Ton	Hot Mix Asphalt 25M 64 Base Course	\$500.00	\$3,500.00	\$329.34	\$2,305.38	\$900.00	\$6,300.00		\$1,750.00	\$700.00			\$2,313.71	\$800.00
25 3C01BRS 26 3A00001	550.00 20.00	S.Y.	Berm Surfacing, 3 Inches Thick Aggregate Base Course, 7" Thick	\$33.00 \$35.00	\$18,150.00 \$700.00	\$53.60 \$48.28	\$29,480.00 \$965.60		\$27,500.00 \$1.800.00		\$18,700.00 \$2,000.00	\$35.00 \$175.00	,		\$22,627.00 \$1,120.00	\$35.00 \$39.00
26 3A00001 27 3D05APS	141.00	S.Y.	Aggregate Base Course, /* I nick Bridge Approach Slab	\$35.00 \$1,000.00	\$700.00 \$141,000.00	\$48.28 \$561.12	\$965.60 \$79,117.92	\$90.00 \$600.00	\$1,800.00 \$84,600.00	\$100.00 \$760.00	\$2,000.00 \$107,160.00	\$175.00 \$800.00			\$1,120.00 \$25,024.68	\$39.00 \$1,050.00
28 3E20PMR	2390	S.Y.	Pavement Removal, Variable Depth	\$8.50	\$20,315.00	\$50.00	\$119,500.00		\$83,650.00		\$57,360.00	\$13.00	* /		\$62,976.50	\$26.00
29 3N00001	19610	S.Y.	Full Depth Concrete Pavement, Precast	\$565.00	\$11,079,650.00	\$575.00	\$11,275,750.00	\$550.00	\$10,785,500.00	\$500.00	\$9,805,000.00	\$500.00	\$9,805,000.00	\$528.55	\$10,364,865.50	\$500.00
30 4A01STC	74.00	C.Y.	Concrete In Substructure Above Footings	\$625.00	\$46,250.00	\$1,413.69	\$104,613.06		\$59,200.00	\$770.00	\$56,980.00	\$1,500.00			\$102,722.36	\$640.00
31 4A15DGR	1,300.00	Each	Drill and Grout Reinforcement Bars	\$37.50	\$48,750.00	\$51.00	\$66,300.00	\$45.00	\$58,500.00		\$58,500.00	\$75.00		\$74.00	\$96,200.00	\$38.00
32 4A20LMC 33 4A11RFS	708.00	C.Y.	Latex Modified Concrete Overlay (Variable Depth) Reinforcement Steel, Epoxy Coated	\$1,400.00 \$1.65	\$991,200.00 \$3,639,900.00	\$1,194.30 \$1.90	\$845,564.40 \$4,191,400.00	\$1,800.00 \$1.90	\$1,274,400.00 \$4,191,400.00		\$1,047,840.00 \$3,860,500.00	\$1,200.00 \$1.50			\$1,585,849.20 \$3,220,760.00	\$1,500.00 \$1.65
34 4A55CPS	17.120.00	S.F.	Concrete Penetrating SealerTreatment	\$2.65	\$45,368.00	\$2.58	\$44.169.60		\$34,240.00	\$2.75	\$47.080.00	\$4.00			\$47,764.80	\$1.70
35 N4A0003	1,200.00	L.F.	Strip Seal Expansion Joints, 4" Movement	\$375.00	\$450,000.00	\$620.95	\$745,140.00	\$750.00	\$900,000.00	\$800.00	\$960,000.00	\$550.00		\$671.22	\$805,464.00	\$680.00
36 N4A0001	27,938.00	S.Y.	Sawcut Grooved Deck Surface	\$3.75	\$104,767.50	\$6.06	\$169,304.28	\$4.50	\$125,721.00	\$3.00	\$83,814.00	\$8.00			\$150,306.44	\$3.25
37 4A12RBC	44,000.00	Each	Reinforcement Bar Coupler	\$30.00	\$1,320,000.00	\$24.23	\$1,066,120.00		\$1,980,000.00		\$1,012,000.00	\$45.00	* //		\$1,210,440.00	\$41.00
38 N4A0007 39 4C01SSC	2,000.00 51,030.00	L.F. Each	Methacrylate Crack Sealer Shear Connectors	\$6.50 \$5.75	\$13,000.00 \$293,422.50	\$2.92 \$6.30	\$5,840.00 \$321,489.00	\$1.00 \$6.50	\$2,000.00 \$331,695.00) \$5.50) \$5.80	\$11,000.00 \$295,974.00	\$40.00 \$6.00			\$21,100.00 \$372,008.70	\$3.00 \$9.00
40 4C06SSL	27300	LB	Structural Steel	\$19.00	\$518,700.00	\$6.14	\$167,622.00		\$191,100.00		\$300.300.00	\$11.00			\$354,900.00	\$3.00
41 4H156LEB	84.00	Each	Laminated Elastomeric Bearing, Type 1	\$13,500.00	\$1,134,000.00	\$13,706.87	\$1,151,377.08		\$655,200.00	\$25,000.00	\$2,100,000.00	\$13,000.00			\$1,476,997.20	\$26,000.00
42 4H157LEB	24.00	Each	Laminated Elastomeric Bearing, Type 2	\$13,500.00	\$324,000.00	\$14,451.23	\$346,829.52	\$8,500.00	\$204,000.00	\$25,000.00	\$600,000.00	\$14,000.00		\$17,592.22	\$422,213.28	\$30,000.00
43 4H158LEB	42		Laminated Elastomeric Bearing, Type 3	\$12,000.00	\$504,000.00	\$9,205.41	\$386,627.22	\$7,000.00	\$294,000.00	\$25,000.00	\$1,050,000.00	\$12,000.00		\$16,942.05	\$711,566.10	\$25,000.00
44 4K00CEW 45 4K01RPS	1.00 1.00	L.S. L.S.	Containment, Environmental and Worker Protection Repainting Steelwork No. 1	\$5,785,000.00 \$12,275,000.00	\$5,785,000.00 \$12,275,000.00	\$6,326,668.47 \$11,560,418.29	\$6,326,668.47 \$11,560,418.29	\$6,250,000.00 \$12,550,000.00	\$6,250,000.00 \$12,550,000.00	\$6,750,000.00 \$13,500,000.00	\$6,750,000.00 \$13,500.000.00	\$5,500,000.00 \$12,000,000.00		\$6,798,372.17 \$13,589,950.84	\$6,798,372.17 \$13,589,950.84	\$8,375,000.00 \$16,338,000.00
46 4K02RPS	1.00	L.S.	Repainting Steelwork No. 1 Repainting Steelwork No. 2	\$12,275,000.00	\$306,000.00	\$334,701.54	\$334,701.54	\$12,550,000.00	\$12,550,000.00	350,000.00	\$13,500,000.00	\$12,000,000.00		\$13,589,950.84	\$359,656.21	\$400.000.00
47 4K03RPS	1.00	L.S.	Repainting Steelwork No. 3	\$255,000.00	\$255,000.00	\$278,917.95	\$278,917.95	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00	\$1,250,000.00	* / /		\$299,713.51	\$300,000.00
48 4K09PES	30582	S.F.	Painting Existing Steelwork	\$19.00	\$581,058.00	\$20.78	\$635,493.96	\$22.00	\$672,804.00	\$19.00	\$581,058.00	\$60.00	\$1,834,920.00	\$22.33	\$682,896.06	\$22.00
49 4K03RSP	1	L.S.	Temporary Storage and Recycling/ Disposal of Hazardous Surface Preparation Waste	\$54,000.00	\$54,000.00	\$59,092.32	\$59,092.32	\$75,000.00	\$75,000.00	\$54,025.00	\$54,025.00	\$25,000.00		\$63,498.13	\$63,498.13	\$150,000.00
50 4L07SCU	32.00	Each	Scuppers	\$4,750.00	\$152,000.00	\$6,209.54	\$198,705.28	\$5,000.00	\$160,000.00	\$8,000.00	\$256,000.00	\$7,000.00		\$7,433.96	\$237,886.72	\$7,800.00
51 4L00006 52 4L09FDP8	205.00 254.00	L.F.	8" Drainage Pipe, Galvanized Steel 8" Drainage Pipe, Fiberglass	\$390.00 \$370.00	\$79,950.00 \$93,980.00	\$428.77 \$428.77	\$87,897.85 \$108,907.58	\$400.00 \$380.00	\$82,000.00 \$96,520.00	350.00 3325.00	\$71,750.00 \$82,550.00	\$400.00 \$300.00		\$455.45 \$570.84	\$93,367.25 \$144,993.36	\$250.00 \$170.00
53 4L05CBD	1000	L.F.	Clean Bridge Drainage System	\$25.00	\$25,000.00	\$6.56	\$6.560.00		\$26,000.00		\$21,000.00	\$70.00			\$21,510.00	\$24.00
54 4L08WIG	115	Each	Weld Existing Inlet Grate	\$225.00	\$25,875.00	\$651.12	\$74,878.80		\$103,500.00		\$57,500.00	\$300.00			\$112,900.10	\$250.00
55 4L03BDI	2		Raise Bridge Drop Inlet	\$1,000.00	\$2,000.00	\$1,058.25	\$2,116.50		\$6,000.00	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00	\$3,017.42	\$6,034.84	\$600.00
56 4Q02BDR	108		Concrete Deck Replacement	\$1,450.00	\$156,600.00	\$1,100.00	\$118,800.00		\$102,600.00		\$97,200.00	\$1,000.00			\$180,443.16	\$1,400.00
57 4Q03BDR 58 4Q06BDR	364.00 15		Concrete Deck Replacement with Catches Pavement Riser Repair	\$1,600.00 \$240.00	\$582,400.00 \$3,600.00	\$1,500.00 \$106.50	\$546,000.00 \$1,597.50		\$364,000.00 \$3,000.00		\$473,200.00 \$3,750.00	\$1,500.00 \$600.00			\$648,076.52 \$6,549.30	\$1,500.00 \$200.00
59 4Q07BDR	11000	S.Y.	Removal of Asphalt Surfacing and Scarify Concrete	\$13.00	\$143,000.00	\$17.22	\$189,420.00		\$121,000.00		\$135,850.00	\$18.00			\$223,080.00	\$25.00
60 4Q08BDR	780	S.Y.	Removal of Existing Surfacing	\$48.00	\$37,440.00	\$55.00	\$42,900.00	\$35.00	\$27,300.00	\$50.00	\$39,000.00	\$55.00	\$42,900.00	\$22.39	\$17,464.20	\$30.00
61 4Q09BDR	250	S.F.	Removal and Replacement of Existing Surfacing	\$3.00	\$750.00	\$65.63	\$16,407.50		\$10,000.00		\$5,000.00	\$17.00			\$9,290.00	\$19.00
62 4Q22BDR	15450	S.Y.	Removal of SIP Metal Forms	\$0.01	\$154.50	\$5.52	\$85,284.00		\$169,950.00		\$169,950.00	\$10.00			\$227,887.50	\$13.00
63 4Q24BDR 64 4Q30S01	5,000.00 11,800.00	L.F. S.F.	Reinforcement Steel, Field Anti - Corrosion Coating Spall Repair, Type 1	\$1.00 \$80.00	\$5,000.00 \$944,000.00	\$4.24 \$70.00	\$21,200.00 \$826,000.00		\$25,000.00 \$542,800.00		\$30,000.00 \$708,000.00	\$4.00 \$75.00			\$26,300.00 \$1,097,990.00	\$4.00 \$73.00
65 4Q30S02	200.00	S.F.	Spall Repair, Type 2	\$125.00	\$25,000.00	\$178.70	\$35,740.00		\$542,800.00		\$20,000.00	\$150.00		* * * * * * * * * * * * * * * * * * * *	\$25,038.00	\$80.00
66 4Q30S04	100.00	S.F.	Spall Repair, Type 4	\$260.00	\$26,000.00	\$171.39	\$17,139.00	\$150.00	\$15,000.00		\$22,000.00	\$500.00	\$50,000.00	\$291.96	\$29,196.00	\$179.00
67 4Q30S05	200.00	S.F.	Spall Repair, Type 5	\$135.00	\$27,000.00	\$123.52	\$24,704.00		\$10,000.00		\$12,000.00	\$200.00			\$20,276.00	\$73.00
68 4Q30S5A	400.00	S.F.	Spall Repair, Type 5A	\$190.00	\$76,000.00	\$124.38	\$49,752.00		\$36,000.00		\$42,000.00	\$200.00			\$63,440.00	\$390.00
69 4Q30S06 70 4Q30S6A	300.00 300	S.F. S.F.	Spall Repair, Type 6 Spall Repair, Type 6A	\$275.00 \$265.00	\$82,500.00 \$79,500.00	\$166.76 \$231.90	\$50,028.00 \$69,570.00		\$22,500.00 \$30,000.00		\$34,800.00 \$42,900.00	\$350.00 \$350.00			\$85,167.00 \$91,254.00	\$200.00 \$180.00
70 4Q3056A 71 4Q00005	300 10		Tooth Joint Riser Plate Repair	\$265.00	\$79,500.00	\$231.90 \$482.22	\$69,570.00		\$30,000.00		\$42,900.00	\$1,000.00			\$7,092.30	\$1,150.00
72 4Q50DJR	183		Deck Joint Reconstruction	\$125.00	\$22,875.00	\$192.69	\$35,262.27		\$54,900.00	\$550.00	\$100,650.00	\$400.00	\$73,200.00	\$392.19	\$71,770.77	\$500.00
73 4Q15BDR	19800	S.Y.	Removal of Existing Concrete Deck	\$250.00	\$4,950,000.00	\$190.00	\$3,762,000.00	\$280.00	\$5,544,000.00		\$3,465,000.00	\$200.00			\$4,297,590.00	\$240.00
74 4Q00001	22,887.00		Catches Catches	\$50.00	\$1,144,350.00	\$105.00	\$2,403,135.00		\$2,059,830.00		\$1,258,785.00	\$100.00	* ,,		\$2,965,010.85	\$114.00
75 4Q00016 76 N4Q0001	725.00 1.00		Furnishing, Installation and Removal of Temporary Catch Concrete Repair Material	\$200.00 \$12,000.00	\$145,000.00 \$12,000.00	\$400.00 \$12,034.58	\$290,000.00 \$12,034.58		\$181,250.00 \$20,000.00		\$152,250.00 \$15,000.00	\$300.00 \$250,000.00			\$201,615.25 \$27,107.05	\$178.00 \$16,000.00
76 N4Q0001 77 4QFAE0B	1.00		Force Account for Emergency and Routine Bridge Repairs (NO-BID)	\$12,000.00 \$600,000.00	\$12,000.00 \$600,000.00	\$12,034.58 \$600,000.00	\$12,034.58 \$600,000.00		\$20,000.00		\$15,000.00 \$600,000.00	\$250,000.00			\$27,107.05 \$600,000.00	\$16,000.00 \$600.000.00
78 4Q01TMP	4,509.00		Temporary Deck System	\$75.00	\$338,175.00	\$50.00	\$225,450.00		\$270,540.00		\$225,450.00	\$100.00			\$660,207.78	\$100.00
79 4Q25BDR	450		Limited Additional Concrete Removal	\$10.00	\$4,500.00	\$28.29	\$12,730.50		\$13,500.00	\$40.00	\$18,000.00	\$60.00			\$16,186.50	\$57.00
80 4R01SC1	100		Repair Spalled Concrete, Type 1 - Abutment	\$165.00	\$16,500.00	\$274.56	\$27,456.00	\$240.00	\$24,000.00	\$325.00	\$32,500.00	\$250.00			\$35,220.00	\$250.00
81 4R02SC1 82 4R01SC2	6200 50		Repair Spalled Concrete, Type 1 - Pier Repair Spalled Concrete, Type 2 - Abutment	\$350.00 \$280.00	\$2,170,000.00 \$14,000.00	\$225.00 \$326.35	\$1,395,000.00 \$16,317.50		\$1,550,000.00 \$14,500.00		\$1,550,000.00 \$22,500.00	\$200.00 \$350.00			\$1,988,402.00 \$24,833.50	\$235.00 \$350.00
82 4R01SC2 83 4R02SC2	300		Repair Spalled Concrete, Type 2 - Abutment Repair Spalled Concrete, Type 2 - Pier	\$280.00	\$14,000.00	\$326.35	\$16,317.50		\$14,500.00		\$22,500.00	\$350.00			\$24,833.50 \$149,001.00	\$350.00
84 4R01RSC	20.00		Vertical Spall Repair	\$270.00	\$5,400.00	\$256.39	\$5,127.80		\$3,200.00		\$3,000.00	\$700.00	* /		\$4,184.40	\$480.00
85 4R26RBG	470			\$5,000.00		\$3,000.00	\$1,410,000.00		\$1,175,000.00		\$1,880,000.00	\$5,500.00	\$2,585,000.00	\$4,478.62	\$2,104,951.40	\$1,700.00

Base Line Item Detail		J. Fletcher Crean Joseph M. Sanz Vont		Ferreira and Tutor Perini		D'Annunzio & Sons, Inc.		Halmar International LLC		El Sol Contracting & Construcion Corp		IEW Construction Group Inc.		Railroad Const	
Item No. Unit Code 86 4R25BSR	Qty UOM 8600 S.F.	Description Substructure Membrane Weterspecifier	Unit Price	Line Total	Unit Price	Line Total \$79.980.00	Unit Price	Line Total \$86.000.00	Unit Price	Line Total \$73.100.00	Unit Price \$15.00	Line Total \$129,000.00	\$11.77	\$404 222 00	\$8.00
86 4R25BSR 87 4R11RSS	8600 S.F. 2 Each	Substructure Membrane Waterproofing Repair of Structural Steel. Type A	\$8.50 \$4.400.00	\$73,100.00 \$8,800.00	\$9.30 \$10.000.00	\$79,980.00	\$10.00 \$4.500.00	\$86,000.00	\$8.50 \$5,500.00	\$73,100.00	\$5,000.00			\$101,222.00 \$8,273.70	\$3.500.00
88 4R12RSS	2 Each	Repair of Structural Steel, Type B	\$3,300.00	\$6,600.00	\$10,000.00	\$20,000.00	\$4,500.00	\$9,000.00	\$2,700.00	\$5,400.00	\$3,500.00			\$6,590.08	\$3,100.00
89 4R13RSS	20.00 Each	Repair of Structural Steel, Type C	\$4,600.00	\$92,000.00	\$5,000.00	\$100,000.00	\$2,500.00	\$50,000.00	\$2,550.00	\$51,000.00	\$4,000.00			\$66,901.20	\$4,700.00
90 4R14RSS	14 Each	Repair Structural Steel, Type D	\$7,800.00	\$109,200.00	\$33,530.14	\$469,421.96	\$65,000.00	\$910,000.00	\$75,000.00	\$1,050,000.00	\$50,000.00	\$700,000.00	\$61,630.70	\$862,829.80	\$71,000.00
91 4R15RSS	24 Each	Repair Structural Steel, Type E	\$11,800.00	\$283,200.00	\$5,917.38	\$142,017.12	\$13,500.00	\$324,000.00	\$21,000.00	\$504,000.00	\$8,500.00	\$204,000.00		\$284,987.04	\$12,000.00
92 4R16RSS	2 Each	Repair Structural Steel, Type F	\$88,000.00	\$176,000.00	\$50,000.00	\$100,000.00	\$55,000.00	\$110,000.00	\$65,000.00	\$130,000.00	\$40,000.00	\$80,000.00	\$40,779.70	\$81,559.40	\$77,500.00
93 4R17RSS 94 4R19RSS	30.00 Each 52 Each	Repair Structural Steel, Type G Repair Structural Steel, Type J	\$42,500.00 \$16,600.00	\$1,275,000.00 \$863,200.00	\$14,164.28 \$7,876.11	\$424,928.40 \$409,557.72	\$22,000.00 \$6.000.00	\$660,000.00 \$312,000.00	\$52,000.00 \$20,000.00	\$1,560,000.00 \$1,040,000.00	\$25,000.00 \$6,000.00			\$762,581.70 \$535,533.96	\$40,000.00 \$25.000.00
95 4R22RSS	64.00 Each	Repair Structural Steel, Type M	\$500.00	\$32,000.00	\$669.56	\$42.851.84	\$800.00	\$51,200.00	\$1,250.00	\$80.000.00	\$1,200.00	* - /		\$72,122.88	\$1,000.00
101 4R01SST	456.00 Each	Steel Strengthening, Type A	\$4,200.00	\$1,915,200.00	\$2,824.65	\$1,288,040.40	\$2,700.00	\$1,231,200.00	\$4,000.00	\$1,824,000.00	\$4,000.00			\$1,400,585.76	\$7,000.00
102 4R02SST	25 L.F.	Steel Strengthening, Type B1	\$950.00	\$23,750.00	\$582.89	\$14,572.25	\$950.00	\$23,750.00	\$1,000.00	\$25,000.00	\$850.00	\$21,250.00	\$1,056.05	\$26,401.25	\$1,400.00
103 4R03SST	58 L.F.	Steel Strengthening, Type B2	\$1,050.00	\$60,900.00	\$675.79	\$39,195.82	\$1,600.00	\$92,800.00	\$2,000.00	\$116,000.00	\$2,000.00	,		\$62,342.46	\$1,700.00
104 4R04SST	75 L.F.	Steel Strengthening, Type B3	\$2,200.00	\$165,000.00	\$1,791.19	\$134,339.25	\$2,000.00	\$150,000.00	\$3,000.00	\$225,000.00	\$3,500.00	\$262,500.00	\$2,533.77	\$190,032.75	\$3,700.00
105 4R05SST	11 Each 2 Each	Steel Strengthening, Type C1	\$23,400.00	\$257,400.00	\$9,146.92	\$100,616.12	\$16,000.00	\$176,000.00	\$15,000.00	\$165,000.00	\$25,000.00	\$275,000.00	\$18,959.76	\$208,557.36 \$97,261.14	\$30,000.00
106 4R06SST 107 4R07SST	2 Each 1 Each	Steel Strengthening, Type C2 Steel Strengthening, Type D	\$38,000.00 \$23,000.00	\$76,000.00 \$23,000.00	\$23,818.13 \$9.840.80	\$47,636.26 \$9,840.80	\$36,000.00 \$70,000.00	\$72,000.00 \$70,000.00	\$50,000.00 \$20,000.00	\$100,000.00 \$20,000.00	\$55,000.00 \$20.000.00			\$17,215.96	\$50,000.00 \$40.000.00
108 4R08SST	116 L.F.	Steel Strengthening, Type B	\$1,900.00	\$220,400.00	\$1,257.18	\$145,832.88	\$2,400.00	\$278,400.00	\$3,125.00	\$362,500.00	\$2,500.00			\$278,716.68	\$3,500.00
109 4R09SST	116 L.F.	Steel Strengthening, Type E2	\$1,900.00	\$220,400.00	\$1,385.62	\$160,731.92	\$3,000.00	\$348,000.00	\$3,200.00	\$371,200.00	\$2,500.00	*,		\$285,397.12	\$3,500.00
110 4R10SST	4 Each	Steel Strengthening, Type F	\$13,500.00	\$54,000.00	\$7,221.81	\$28,887.24	\$13,500.00	\$54,000.00	\$15,000.00	\$60,000.00	\$20,000.00			\$62,791.28	\$20,000.00
111 4R01RPL	500 Each	Replace Rivets with High Strength Bolts	\$190.00	\$95,000.00	\$300.00	\$150,000.00	\$180.00	\$90,000.00	\$175.00	\$87,500.00	\$100.00			\$96,310.00	\$200.00
112 4R41TSS	221 Each	Temporary Support	\$6,700.00	\$1,480,700.00	\$8,000.00	\$1,768,000.00	\$11,000.00	\$2,431,000.00	\$2,500.00	\$552,500.00	\$10,477.00	+ //		\$1,906,527.22	\$7,000.00
113 4R00013	11 L.F.	Parapet Reconstruction Location No. 1	\$1,000.00	\$11,000.00	\$1,167.26	\$12,839.86	\$3,000.00	\$33,000.00	\$3,500.00	\$38,500.00	\$5,000.00			\$14,198.36	\$750.00
114 4R00014 115 4ZN01SI	13.00 L.F. 16 Each	Parapet Reconstruction Location No. 2 Seismic Isolation Bearing, Type 1	\$850.00 \$29,000.00	\$11,050.00 \$464.000.00	\$1,347.02 \$20,826.54	\$17,511.26 \$333,224.64	\$3,000.00 \$38,000.00	\$39,000.00 \$608.000.00	\$3,000.00 \$27,500.00	\$39,000.00 \$440.000.00	\$5,000.00 \$55.000.00			\$15,513.94 \$829,964.48	\$1,000.00 \$60.000.00
116 4ZN02SI	20 Each	Seismic Isolation Bearing, Type 1 Seismic Isolation Bearing, Type 2	\$29,500.00	\$590,000.00	\$25,230.92	\$504,618.40	\$30,000.00	\$600,000.00	\$27,500.00	\$550,000.00	\$55,000.00			\$1,042,380.40	\$60,000.00
117 4ZN03SI	2 Each	Seismic Isolation Bearing, Type 2	\$29,300.00	\$58,600.00	\$28,273.97	\$56,547.94	\$54,000.00	\$108,000.00	\$40,000.00	\$80,000.00	\$55,000.00			\$116,840.84	\$60,000.00
118 4ZN04SI	34 Each	Seismic Isolation Bearing, Type 4	\$53,600.00	\$1,822,400.00	\$40,496.48	\$1,376,880.32	\$41,000.00	\$1,394,000.00	\$30,000.00	\$1,020,000.00	\$55,000.00		\$74,324.48	\$2,527,032.32	\$80,000.00
119 4ZN05SI	19 Each	Seismic Isolation Bearing, Type 5	\$14,900.00	\$283,100.00	\$17,032.81	\$323,623.39	\$10,000.00	\$190,000.00	\$27,500.00	\$522,500.00	\$25,000.00			\$355,040.46	\$60,000.00
120 4ZN06SI	151 Each	Seismic Isolation Bearing, Type 6	\$14,800.00	\$2,234,800.00	\$19,330.20	\$2,918,860.20	\$6,500.00	\$981,500.00	\$27,500.00	\$4,152,500.00	\$25,000.00			\$2,522,424.80	\$30,000.00
121 4ZN07SI	78 Each	Seismic Isolation Bearing, Type 7	\$14,800.00	\$1,154,400.00	\$14,936.98	\$1,165,084.44	\$8,100.00	\$631,800.00	\$22,500.00	\$1,755,000.00	\$25,000.00			\$1,324,991.46	\$30,000.00
122 4ZM04HPC 123 4ZM12HPC	150 C.Y. 580 C.Y.	Concrete in Parapet, HPC Concrete in Median Barrier, HPC	\$1,050.00 \$1,150.00	\$157,500.00 \$667,000.00	\$906.76 \$1,030.36	\$136,014.00 \$597,608.80	\$900.00 \$1,000.00	\$135,000.00 \$580,000.00	\$829.00 \$955.00	\$124,350.00 \$553,900.00	\$900.00 \$1,800.00			\$146,154.00 \$642,164.40	\$760.00 \$845.00
124 4ZN01HES	5,300.00 C.Y.	Concrete in Nedian Barrier, HPC Concrete in Deck, HES-HPC	\$1,130.00	\$7,155,000.00	\$1,540.00	\$8,162,000.00	\$1,450.00	\$7,685,000.00	\$1,600.00	\$8,480,000.00	\$1,100.00			\$7,496,585.00	\$1,100.00
125 4ZH06SPP	3.00 Each	Furnish Steel Protection Plate, 10' x 6' x 1.50"	\$1,000.00	\$3,000.00	\$2.887.93	\$8,663.79	\$7,000.00	\$21,000.00	\$16,000.00	\$48,000.00	\$5,000.00	\$15,000.00		\$26,445.30	\$4,000.00
126 5A08PUD	2,470.00 L.F.	8" Pipe Underdrain	\$130.00	\$321,100.00	\$33.93	\$83,807.10	\$65.00	\$160,550.00	\$20.00	\$49,400.00	\$60.00			\$98,972.90	\$45.00
127 5B01CSD	2,100.00 L.F.	Cleaning Existing Storm Drains	\$20.00	\$42,000.00	\$13.13	\$27,573.00	\$12.00	\$25,200.00	\$15.50	\$32,550.00	\$15.00			\$37,149.00	\$21.00
128 5B15RC3	111.00 L.F.	15" Reinforced Concrete Pipe	\$120.00	\$13,320.00	\$214.02	\$23,756.22	\$300.00	\$33,300.00	\$110.00	\$12,210.00	\$300.00	* /		\$2,324.34	\$105.00
129 5C01ND1	2.00 Each	Inlet, Type D1	\$2,000.00	\$4,000.00	\$3,323.91	\$6,647.82	\$9,000.00	\$18,000.00	\$4,125.00	\$8,250.00	\$7,500.00			\$8,712.30	\$5,600.00
130 5C01ND3 131 5C10ND3	11.00 Each 20.00 Each	Inlet, Type D3 Reconstructed Inlet, Type D3, Using New Grate and Frame	\$3,000.00 \$1,900.00	\$33,000.00 \$38,000.00	\$5,115.62 \$2,716.00	\$56,271.82 \$54,320.00	\$2,900.00 \$2,000.00	\$31,900.00 \$40,000.00	\$5,700.00 \$2,300.00	\$62,700.00 \$46,000.00	\$7,500.00 \$3,000.00	\$82,500.00 \$60,000.00		\$52,010.53 \$79,560.80	\$3,400.00 \$1,400.00
132 5C40RSF	5 Each	Reset Frame	\$550.00	\$2,750.00	\$657.56	\$3,287.80	\$600.00	\$3,000.00	\$1,000.00	\$5,000.00	\$1,600.00	\$8,000.00		\$4,352.40	\$580.00
133 5D01G06	11 S.Y.	Concrete Gutter, 6" Thick	\$110.00	\$1,210.00	\$119.22	\$1,311.42	\$500.00	\$5,500.00	\$110.00	\$1,210.00	\$900.00	\$9,900.00		\$1,409.21	\$109.00
134 5F01VCA	1850 L.F.	Concrete Curb, Type A	\$39.00	\$72,150.00	\$28.44	\$52,614.00	\$35.00	\$64,750.00	\$26.00	\$48,100.00	\$40.00	\$74,000.00	\$30.56	\$56,536.00	\$26.00
135 5H02CMB	2722 L.F.	Concrete Median Barrier, Bridge	\$56.00	\$152,432.00	\$100.00	\$272,200.00		\$163,320.00	\$80.00	\$217,760.00	\$110.00			\$292,315.58	\$74.00
136 5H31CRB	2722 L.F.	Concrete Median Barrier Removal, Bridge	\$28.00	\$76,216.00	\$100.00	\$272,200.00	\$60.00	\$163,320.00	\$56.00	\$152,432.00	\$70.00			\$285,401.70	\$60.00
137 5I01SNP 138 5I11REM	148 S.F. 12 Each	Sign Panels	\$77.00 \$175.00	\$11,396.00 \$2,100.00	\$27.34	\$4,046.32	\$90.00 \$250.00	\$13,320.00 \$3,000.00	\$77.00 \$175.00	\$11,396.00 \$2,100.00	\$80.00 \$175.00	* /	· · · · · · · · · · · · · · · · · · ·	\$13,394.00 \$2,468.28	\$77.00
139 5J01PCA	1 Each	Remove Signs Parapet Connection, Type A	\$175.00	\$2,100.00	\$218.76 \$5,250.22	\$2,625.12 \$5,250.22	\$3,000.00	\$3,000.00	\$175.00 \$2,500.00	\$2,500.00	\$2,750.00			\$3,232.20	\$175.00 \$2,750.00
140 5J01PCB	1.00 Each	Parapet Connection, Type B	\$850.00	\$850.00	\$1,531.31	\$1,531.31	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$850.00			\$999.05	\$850.00
141 5J00FGT	3 Each	Flared Guide Rail Terminal	\$2,325.00	\$6,975.00	\$3,226.70	\$9,680.10	\$3,000.00	\$9,000.00	\$2,500.00	\$7,500.00	\$2,750.00			\$9,696.60	\$2,750.00
142 5J01RBG	1670 L.F.	Removal of Beam Guide rail	\$5.00	\$8,350.00	\$3.28	\$5,477.60	\$10.00	\$16,700.00	\$5.00	\$8,350.00	\$5.00			\$9,819.60	\$5.00
143 5J51TTS	1 Each	Tangent Guide Rail Terminal	\$2,850.00	\$2,850.00	\$3,445.46	\$3,445.46	\$3,500.00	\$3,500.00	\$2,850.00	\$2,850.00	\$2,850.00	\$2,850.00	4 - 1	\$3,349.74	\$2,850.00
144 5J52ABG	5.00 Each		\$900.00	\$4,500.00	\$940.66	\$4,703.30		\$5,000.00		\$4,500.00	\$950.00			\$5,582.90	\$950.00
145 5J52BGR 146 5J53RRS	2,000.00 L.F. 2,000.00 L.F.	Beam Guide Rail Rub Rail	\$18.00 \$8.50	\$36,000.00 \$17,000.00	\$32.81 \$17.50	\$65,620.00 \$35,000.00	\$23.00 \$10.00	\$46,000.00 \$20,000.00	\$21.00 \$8.00	\$42,000.00 \$16,000.00	\$25.00 \$8.00			\$54,060.00 \$18,800.00	\$23.00 \$8.00
146 5J53RRS 147 5J54BGP	2,000.00 L.F. 10.00 Each	Beam Guide Rail Post	\$50.00	\$17,000.00	\$17.50	\$35,000.00	\$50.00	\$20,000.00	\$35.00	\$16,000.00	\$36.00			\$423.10	\$36.00
148 5N04PCS	42.00 S.Y.	Concrete Sidewalk, 4" Thick	\$75.00 \$75.00	\$3,150.00	\$78.75	\$3,307.50	\$120.00	\$5,040.00	\$72.00	\$3,024.00	\$200.00			\$3,554.46	\$72.00
149 5N06PCS	80.00 S.Y.	Concrete Sidewalk, 6" thick	\$85.00	\$6,800.00	\$89.69	\$7,175.20	\$130.00	\$10,400.00	\$82.00	\$6,560.00	\$200.00			\$7,710.40	\$82.00
150 5O01CAW	31.00 Each		\$50.00	\$1,550.00	\$71.10	\$2,204.10	\$50.00	\$1,550.00	\$40.00	\$1,240.00	\$50.00			\$1,639.59	\$45.00
151 5001CAXY	1 Each	Delineator, Type CAX-Y	\$50.00	\$50.00	\$38.28	\$38.28	\$50.00	\$50.00	\$40.00	\$40.00	\$50.00			\$52.89	\$45.00
152 5001CAY	14.00 Each	Delineator, Type CA-Y	\$50.00	\$700.00	\$38.28	\$535.92		\$700.00	\$40.00	\$560.00	\$50.00			\$740.46	\$45.00
153 5001PAW	12.00 Each	Delineator, Type PA-W	\$85.00	\$1,020.00	\$71.10	\$853.20 \$403.45	\$75.00 \$75.00	\$900.00	\$65.00	\$780.00	\$65.00 \$65.00			\$916.80	\$45.00
154 5001PAY 155 5P10TMP	15.00 Each 107,380.00 L.F.	Delineator, Type PA-Y Temporary Pavement Striping	\$85.00 \$0.21	\$1,275.00 \$22,549.80	\$32.81 \$0.24	\$492.15 \$25,771.20	\$75.00 \$0.25	\$1,125.00 \$26,845.00	\$65.00 \$0.22	\$975.00 \$23,623.60	\$65.00 \$0.35			\$1,146.00 \$27,918.80	\$45.00 \$0.25
156 5P13TMP	38,146.00 L.F.	Removable Black Line Mask, 8" Wide	\$0.21	\$22,549.80 \$85.828.50	\$0.24 \$2.45	\$25,771.20 \$93,457.70	\$2.50	\$26,845.00	\$2.25	\$85,828.50	\$3.00			\$100,323.98	\$2.25
157 5P20LLS	81000 L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$0.71	\$57,510.00	\$0.79	\$63,990.00	\$0.80	\$64,800.00	\$0.72		\$0.50			\$68,850.00	\$0.75
158 5P32LLM	153 S.F.	Traffic Markings, Symbols, Long - Life, Epoxy Resin	\$14.00	\$2,142.00	\$14.82	\$2,267.46		\$2,295.00	\$13.55	\$2,073.15	\$10.00			\$2,437.29	\$14.00
159 5P01ECS	9,300.00 L.F.	Epoxy Resin Contrast Stripe	\$2.70	\$25,110.00	\$2.93	\$27,249.00	\$3.00	\$27,900.00	\$2.68	\$24,924.00	\$1.00	\$9,300.00	\$3.15	\$29,295.00	\$3.00
160 5P11REM	1,000.00 L.F.	Striping and Marking Removal, Mechanical	\$1.25	\$1,250.00	\$1.33	\$1,330.00	\$1.50	\$1,500.00	\$1.22	\$1,220.00	\$1.00			\$1,430.00	\$1.25
161 5P12REM	174,000.00 L.F.	Striping and Marking Removal, Hydromilling	\$0.50	\$87,000.00	\$0.55	\$95,700.00	\$0.55	\$95,700.00	\$0.50		\$0.80			\$102,660.00	\$0.50
162 5P14TMP 163 5Q01FOC	9720 L.F. 1.00 L.S.	Removable Wet Weather Pavement Marking Tape Furnish Field Office, Type C	\$1.80 \$50,000.00	\$17,496.00 \$50,000.00	\$1.91 \$135,000.00	\$18,565.20 \$135,000.00	\$2.00 \$125,000.00	\$19,440.00 \$125,000.00	\$1.75 \$300,000.00	\$17,010.00 \$300,000.00	\$2.00 \$200,000.00			\$20,023.20 \$91,623.42	\$1.75 \$50,000.00
163 5Q01FOC 164 5Q02MFC	1.00 L.S. 40 Mnth		\$50,000.00	\$132,000.00	\$135,000.00	\$135,000.00	\$125,000.00	\$125,000.00	\$300,000.00	\$300,000.00	\$200,000.00			\$91,623.42 \$209,682.00	\$3,000.00
165 5Q21FOE	1 C.P.	Furnish Field Office Equipment (NO-BID)	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$2,000.00	\$20,000.00	\$20,000.00			\$20,000.00	\$20,000.00
166 5X00018	1 Each	Quadguard Impact Attenuator, 6 Bays, 24" Wide	\$20,000.00	\$20,000.00	\$28,846.08	\$28,846.08	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00	\$2,500.00			\$39,517.08	\$40,000.00
167 5X00029	2 Each	Quadguard Impact Attenuator, 6 Bays, 30" Wide	\$31,900.00	\$63,800.00	\$29,585.41	\$59,170.82	\$36,000.00	\$72,000.00	\$35,000.00	\$70,000.00	\$2,500.00	\$5,000.00	\$40,523.74	\$81,047.48	\$41,000.00
168 5X06FTA	1.00 Each	Furnishing Temporary Impact Attenuator, Quadguard, 5 Bays, 24" Wide	\$2,500.00	\$2,500.00	\$22,762.47	\$22,762.47	\$26,000.00	\$26,000.00	\$17,000.00	\$17,000.00	\$19,000.00			\$18,864.32	\$25,000.00
169 5X05FTA	1 Each	Furnishing Temporary Impact Attenuator, Quadguard, 5 Bays, 36" Wide	\$2,500.00	\$2,500.00	\$23,975.40	\$23,975.40	\$32,000.00	\$32,000.00	\$17,000.00	\$17,000.00	\$20,000.00			\$1,886.43	\$30,000.00
170 5X07FTA	1 Each	Furnishing Temporary Impact Attenuator, Quadguard, 5 Bays, 69" Wide	\$2,500.00	\$2,500.00	\$27,714.02	\$27,714.02	\$36,000.00	\$36,000.00	\$18,000.00	\$18,000.00	\$23,000.00	* -/		\$3,144.05	\$30,000.00
171 5X00PRA	4 Each		\$2,900.00	\$11,600.00	\$1,295.13	\$5,180.52	\$7,000.00 \$1,400.00	\$28,000.00	\$4,000.00	\$16,000.00 \$71,500.00	\$2,500.00 \$4,000.00			\$21,933.64	\$1,000.00
172 5X00RPR 173 5Y01MMC	13 Each 4 Each	Repair Temporary Impact Attenuator, Quadguard Mile Marker, Type MC	\$100.00 \$150.00	\$1,300.00 \$600.00	\$2,887.93 \$125.79	\$37,543.09 \$503.16	\$1,400.00 \$200.00	\$18,200.00 \$800.00	\$5,500.00 \$125.00	\$71,500.00 \$500.00	\$4,000.00 \$125.00			\$76,514.88 \$587.68	\$1,000.00 \$125.00
174 5Y01MRC	12 Each	Mile Marker, Type RC	\$150.00 \$150.00	\$1.800.00	\$85.32	\$1,023.84	\$120.00	\$1,440.00	\$125.00	\$1,500.00	\$125.00			\$1,763.04	\$125.00
175 5Y01MRP	4 Each	Mile Marker, Type RP	\$150.00	\$600.00	\$109.38	\$437.52	\$200.00	\$800.00	\$125.00	\$500.00	\$125.00			\$587.68	\$125.00

Base Lime Perform Pe	D. 11. 14. D. 17.		J. Fletcher Creamer & John, Inc. &				I				El Sol Contracting & Construcion		1511 O 1 11 O 1					
Text Company	Base Lir	ie Item Detai	il			Venture		Ferreira and T	utor Perini	D'Annunzio & Sons, Inc.		Halmar International LLC		_		IEW Construction Group Inc.		Railroad Const
	Item No.	Unit Code	Qty	UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total			
19	176	5ZMFAS0B	1	C.P.	Force Account for Snow Removal (NO-BID)	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00		\$52,000.00
Proc. Proc			.,	S.Y.	,		¥ ,				. , , , , , , , , , , , , , , , , , , ,				*,			
100 AGAING Cort 10	178			L.S.		\$28,000.00	* -,	\$27,344.90	* /	* /	* /	* ,	* /	\$20,000.00	* - /	* -,	* -,	* /
MANAGE SANOTO F																		
40.000000 1.00000 1.0000 1.0000 1.0000 1.00000 1.00000 1.00000 1.0000 1.0000 1.0000 1.00000 1.00000 1.00000 1.00000	180		-,	L.F.			,				. ,		,		.,		,	
10 10 10 10 10 10 10 10			00,000.00	L.F.			400).00.00		+ · • • j · • • · • •	70.00	4 · · · · · · · · · · · · · · · · · · ·		+,	¥		¥*.	4.00,000.00	¥ · · · · ·
14 64-794.C 1500.0 17 18 18 18 18 18 18 1					, , ,		, , , , , , ,		* - /				4 - 7				* - ,	
150 600000W P. 100 1.1			.,	L.F.			. ,		,		,		. ,	*	* /		,	
660 15				L.F.	1 0 0						* /			*				
197 64-000W 190 LF 116 AV G. Closed Wile 192 C 193 C 1																		
66340C 2 Sept Antonio Reg Type C	186			L.F.					+ /		* /		+ /		* /		* /	
Big Get Feb Description Part Sep Description S			100							7				¥	7		Ţ	
10 64708 M 4 Each 1 10 64708 M 5 10 10 64708 M 10 64708		0	2			+-,	* /		* / * * * * * * * * * * * * * * * * * *	40,000.00		4 -,	4 .,	40,-00.00	40,000.00	+- 1000.0.		7 -,
91 0.669RAS 1			29		. 21					4 - 7				* - 7				. ,
180			4	Each	Lighting Manhole	Ţ,u	+ · · · · · · · · · · · · · · · · · · ·	¥ · • ; · • = · · · ·	\$41,808.68	40,000.00	+ • • • • • • • • • • • • • • • • • • •	¥ ,	¥ · · · , · = • · · •	* · · · , • • • · · ·	¥ : :,=====	ψ·σ;··σ:=σ	40- 100000	40,000.00
1935 AAA,SER 1,00 Ench Juntom Res Reconstruction 1,000,00 31,000	191	6A65RAS	1	Lump	Remove and Salvage Existing Facilities			\$38,508.00		\$100,000.00	\$100,000.00	\$43,300.00	\$43,300.00	\$47,500.00	\$47,500.00		\$50,865.27	\$109,000.00
145 8806.MG	192	6B00088	11.00	Each	Concrete Base Foundation, Type I For Lighting Standard	\$2,700.00	\$29,700.00	\$2,035.42	\$22,389.62									
Per	193			Each	Junction Box Reconstruction	\$.,000.00	4.,000.00	4 -,. • • • •	+- 1. • • • •	4 - 7	4 - 1	* /	+ /	* - 7	4 - 1	. ,	* /	* - 7
Per 88PGUARGE 22.00 Each Upting Standard, Type L-MG2-40 \$1,700.00	194		14.00	Each	Lighting Standard, Type L-MG-26	\$2,100.00	\$29,400.00	\$1,925.40	\$26,955.60							+- 1	400,000	7-,000.00
Fig. Control Fig. Control Fig. Control Fig. Control Fig. Control Fig.	195	6B45LMG	1	Each	Lighting Standard, Type L-MG-40	\$2,500.00	\$2,500.00	\$2,310.48	\$2,310.48	\$3,000.00	\$3,000.00	\$2,731.00	\$2,731.00	\$2,680.00	\$2,680.00	\$3,209.36	\$3,209.36	40,
198 6800142 4 Earh Type LPS Luminaire	196	6B40LMG2	25.00	Each	Lighting Standard, Type L-MG2-40	\$2,700.00	\$67,500.00	\$2,420.50	\$60,512.50	\$3,000.00	\$75,000.00	\$2,772.00	\$69,300.00	\$2,975.00	\$74,375.00	\$3,257.80	\$81,445.00	\$2,912.00
Fig.	197	6B00110	9	Each	Type LP1 Luminaire	\$1,300.00	\$11,700.00	\$1,584.33	\$14,258.97	\$1,700.00	\$15,300.00	\$1,381.00	\$12,429.00	\$1,575.00	\$14,175.00	\$1,622.84	\$14,605.56	\$1,322.00
Page	198	6B00144	4	Each	Type LP3 Luminaire	\$1,350.00	\$5,400.00	\$1,639.34	\$6,557.36	\$1,800.00	\$7,200.00	\$1,443.00	\$5,772.00	\$1,630.00	\$6,520.00	\$1,695.51	\$6,782.04	\$1,510.00
201 NB60007 1 L.S. Undertrige Lighting Installation, Str. No. 1 \$14,000.00 \$14,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$32,000.00 \$31,000	199	6B00192	51	Each	Type LP8 Luminaire	\$2,300.00	\$117,300.00	\$2,431.51	\$124,007.01	\$2,500.00	\$127,500.00	\$2,391.00	\$121,941.00	\$2,530.00	\$129,030.00	\$2,809.70	\$143,294.70	\$2,170.00
202 EUO1160 1 L.S. Electrical Work at Location No. 1 \$300,000,00 \$300,00	200	6B00193	1	Each	Type LP9 Luminaire	\$2,000.00	\$2,000.00	\$2,310.48	\$2,310.48	\$2,500.00	\$2,500.00	\$2,165.00	\$2,165.00	\$2,285.00	\$2,285.00	\$2,543.26	\$2,543.26	\$2,200.00
203 TC01TCP 1,050.00 S.Y. Topsol S1,000 S1,000 S2,00 S1,000 S2,00 S1,000 S1,000 S2,00 S1,000 S2,00 S1,000 S2,00 S1,000 S2,00 S1,000 S2,00 S1,000 S2,00 S2,00 S2,00 S1,000 S2,00	201	N6B0007	1	L.S.	Underbridge Lighting Installation, Str. No. 1	\$14,000.00	\$14,000.00	\$27,505.72	\$27,505.72	\$20,000.00	\$20,000.00	\$22,500.00	\$22,500.00	\$10,000.00	\$10,000.00	\$17,802.84	\$17,802.84	\$9,730.00
204 70015ED 370 5.7. Seeding, Type A 5.2.0 5.740.00 51.44 5.608.80 51.00 53.700.00 52.50 5325.00 53.00 51.11.00 52.25 5.868.50 52.00 52.00 57.0	202	6J00160	1	L.S.	Electrical Work at Location No. 1	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00	\$400,000.00	\$400,000.00	\$300,000.00	\$300,000.00	\$400,000.00	\$400,000.00	\$301,836.41	\$301,836.41	\$301,494.38
205 7006SED 700.00 S.Y. Seeding, Type L S2.00 \$1.40.00 \$1.64 \$1.148.00 \$1.000 \$7.00.00 \$2.50 \$1.750.00 \$2.50 \$0.000.00 \$2.35 \$51.645.00 \$2.20 \$2.00 \$2.00 \$1.000.00 \$2.50 \$1.000.00 \$2.50 \$2.000.00 \$2.50 \$2.000.00 \$2.50 \$2.000.00 \$2.50 \$2.000.00 \$2.50 \$2	203	7C01TOP	1,050.00	S.Y.	Topsoil	\$10.00	\$10,500.00	\$27.34	\$28,707.00	\$30.00	\$31,500.00	\$11.00	\$11,550.00	\$50.00	\$52,500.00	\$11.75	\$12,337.50	\$10.00
206 7F015SM 700.00 S.Y. Soll Sablization Matting S.E.00 \$4.200.00 \$3.28 \$2.286.00 \$5.200.00 \$4.200.00 \$75.000 \$5.25,000.00 \$1.375,000.00 \$5.000.000 \$1.375,000.00 \$1.000.000 \$1.0	204	7D01SED	370	S.Y.	Seeding, Type A	\$2.00	\$740.00	\$1.64	\$606.80	\$10.00	\$3,700.00	\$2.50	\$925.00	\$30.00	\$11,100.00	\$2.35	\$869.50	\$2.00
207 8A01MPT 1.00 L.S. Furnishing Traffic Control Devices \$1,250,000.00 \$37,500.00 \$37,500.00 \$3,375,000.00 \$3,375,000.00 \$500,000.00 \$500,000.00 \$5,	205	7D08SED	700.00	S.Y.	Seeding, Type L													
208 8A06MPT 65.00 Barr Repair Truck Mounted Impact Alternustors \$35.00 \$22,750.00 \$22,500.00 \$32,600.00 \$32,200.00 \$36,000.00 \$50,000 \$50,000 \$50,000 \$50,000 \$10,000.00 \$50,000 \$10,000.00	206	7F01SSM	700.00	S.Y.	Soil Stablization Matting	\$6.00	\$4,200.00	\$3.28	\$2,296.00	\$6.00	\$4,200.00	\$6.00	\$4,200.00	\$75.00	\$52,500.00	\$2.35	\$1,645.00	
299 8AA7MPT	207	8A01MPT	1.00	L.S.	Furnishing Traffic Control Devices	\$1,250,000.00	\$1,250,000.00	\$975,000.00	\$975,000.00	\$3,440,000.00	\$3,440,000.00	\$1,375,000.00	\$1,375,000.00	\$500,000.00	\$500,000.00	\$1,500,000.00	\$1,500,000.00	\$1,000,000.00
210 8A30MPT 5.00 Each Furnishing Portable Variable Message Sign \$8.500.00 \$3	208	8A06MPT	65.00	Barr	Repair Temporary Impact Attenuators	\$350.00	\$22,750.00	\$259.04	\$16,837.60	\$500.00	\$32,500.00	\$450.00	\$29,250.00	\$1,000.00	\$65,000.00	\$502.67	\$32,673.55	\$400.00
211 N8A0001 18,62.00 L.F. Furnishing Precast Concrete Construction Barrier \$25.00 \$465,500.00 \$48.00 \$893,760.00 \$26.00 \$484,120.00 \$26.00 \$484,120.00 \$20.00 \$372,400.00 \$23.88 \$444,645.60 \$14.00 \$21.00 \$10.00 \$20.000 \$1.20 \$10.00 \$20.000 \$1.00 \$20.000 \$	209	8A07MPT	4	Each	Repair Truck Mounted Impact Attenuators	\$1.00	\$4.00	\$1,234.42	\$4,937.68	\$6,000.00	\$24,000.00	\$2,500.00	\$10,000.00	\$15,000.00	\$60,000.00	\$0.01	\$0.04	
212 N8A0002 36,120.00 L.F. Placing and Removing Precast Concrete Construction Barrier \$17.00 \$614,040.00 \$25.00 \$993,000.00 \$8.00 \$28,896.00 \$15.25 \$550,830.00 \$25.00 \$993,000.00 \$13.91 \$502,429.20 \$23.00 \$23.00 \$23.00 \$23.00 \$23.00 \$20	210	8A30MPT	5.00	Each	Furnishing Portable Variable Message Sign	\$8,500.00	\$42,500.00	\$25,000.00	\$125,000.00	\$5,000.00	\$25,000.00	\$30,000.00	\$150,000.00	\$15,000.00	\$75,000.00	\$14,876.60	\$74,383.00	\$15,000.00
213 N8A0003 2,600.00 L.F. Resetting Precast Concrete Construction Barrier \$10.00 \$26,000.00 \$10.00 \$26,000.00 \$10.00 \$26,000.00 \$10.00 \$26,000.00 \$3.75.00 \$26,000.00 \$3.75.00 \$26,000.00 \$3.75.00 \$26,000.00 \$3.75.00 \$3.25.00				L.F.	Furnishing Precast Concrete Construction Barrier				* ,				,					
214 8B15MPT 13000 M.H. Traffic Protection Patrol \$25.00 \$325,000.00 \$1.00 \$13,000.00 \$25.00 \$325,000.00 \$325,000.00 \$45,000 \$260,000.00 \$45,000 \$45,000 \$45,000 \$260,000.00 \$45,000 \$260,000.00 \$20.00 \$260,000.00 \$20.00		N8A0002			Placing and Removing Precast Concrete Construction Barrier													
215 8B17MPT 7 Each Furnishing Truck with Mounted Attenuator \$10,000.00 \$70,000.00 \$50,000.00 \$10,000.00 \$70,000.00 \$455,000.00 \$455,000.00 \$455,000.00 \$23,506.94 \$164,548.58 \$10,000.00 \$216 8B18MPT 5.00 Each Furnishing Temporary Impact Attenuator or Engineer's Use \$24,854.30 \$5,000.00 \$22,000.00 \$70,000.00 \$25,000.00 \$25,000.00	213		_,	L.F.	Resetting Precast Concrete Construction Barrier		* -,		4-0,0-0.00	70.00	+ -,		,	4.0.00	+,		* -,	
216 8B18MPT 5.00 Each Furnishing Temporary Impact Attenuator 5.00 \$4,000.00 \$20,000.00 \$4,970.86 \$24,854.30 \$5,000.00 \$25,000.00 \$35	214	8B15MPT	13000	M.H.	Traffic Protection Patrol	\$25.00			+ · • ; • • • •	\$25.00	\$325,000.00	\$75.00	40.0,000.00		4 -00,000.00		4000,000.00	
217 8B19MPT 600.00 M.H. Furnishing Truck with Mounted Attenuator for Engineer's Use \$25.00 \$15,000.00 \$0.44 \$264.00 \$100.00 \$60,000.00 \$75.00 \$45,000.00 \$25.00 \$15,000.00 \$121.12 \$72,672.00 \$100.00 \$218 8B20MPT 15 Each Placing and Removing Temporary Impact Attenuator \$3,500.00 \$2,855.05 \$42,825.75 \$2,500.00 \$37,500.00 \$24,750.00 \$8,000.00 \$120,000.00 \$2,931.46 \$43,971.90 \$1,000.00 \$100,0	215	8B17MPT	7	Each	Furnishing Truck with Mounted Attenuator	\$10,000.00	\$70,000.00	\$50,000.00	\$350,000.00	\$10,000.00	\$70,000.00	\$65,000.00	\$455,000.00	\$65,000.00	\$455,000.00	\$23,506.94	\$164,548.58	\$10,000.00
218 8B20MPT 15 Each Placing and Removing Temporary Impact Attenuator \$3,500.00 \$2,855.05 \$42,825.75 \$2,500.00 \$37,500.00 \$1,650.00 \$24,750.00 \$8,000.00 \$10,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$2,931.46 \$43,971.90 \$1,000.00 \$1,000.00 \$1,000.00 \$2,900.00 \$2,900.00 \$2,500.00 \$37,500.00 \$37,500.00 \$57,000.0	216	8B18MPT		Each	Furnishing Temporary Impact Attenuator					\$5,000.00						\$6,437.28		\$15,000.00
219 8B26MPT 190 Each Installation, Maintenance, and Removal of Lane Closing \$500.00 \$95,000.00 \$475,000.00 \$570,000.00 \$760,000.00 \$50,000.00 \$95,000.00 \$3,500.00 220 8B34MPT 36000 L.F. Modular Glare Screen System \$7.00 \$252,000.00 \$4.65 \$167,400.00 \$13.00 \$468,000.00 \$10.00<	217		600.00	M.H.	Furnishing Truck with Mounted Attenuator for Engineer's Use		,				* /				* -,			
220 8B34MPT 36000 L.F. Modular Glare Screen System \$7.00 \$252,000.00 \$4.65 \$167,400.00 \$18.00 \$648,000.00 \$13.00 \$466,000.00 \$10.00 \$360,000.00 \$10.0										. ,				* - 7				
221 8CPTD0B 1 L.S. Police Traffic Directors (NO-BID) \$100,000.00	219			Each		****	* /	* /	,	4 - 7	4 1,	* /	,	* - 7	* /	4-7	* ,	\$3,500.00
222 8C100SCL 1 L.S. Maintenance and Protection of Traffic on State, County, and Local Roadways \$55,000.00 \$195,086.51 \$1,000,000.00 \$300,000.00 \$300,000.00 \$650,000.00 \$400,000.00 \$400,000.00 \$100,000.00 \$100,000.00 \$300,000.00 <td>220</td> <td></td> <td>36000</td> <td>L.F.</td> <td>Modular Glare Screen System</td> <td>4</td> <td></td> <td></td> <td>\$167,400.00</td> <td>4.4.4</td> <td>40.010000</td> <td>\$13.00</td> <td>+,</td> <td>4.4.4</td> <td>4000,000.00</td> <td></td> <td></td> <td></td>	220		36000	L.F.	Modular Glare Screen System	4			\$167,400.00	4.4.4	40.010000	\$13.00	+ ,	4.4.4	4000,000.00			
223 8DMRR0B 1.00 L.S. Maintenance and Protection of Railroad Traffic (NO-BID) \$39,000.00			1				*,	,	V.00 ,000.00					4.00,000.00		4.00,000.00		
224 3AVTABC 1500 C.Y. Aggregate Base Course, Variable Thickness \$35.00 \$52,500.00 \$160.00 \$240,000.00 \$35.00 \$52,500.00 \$100.00 \$150,000.00 \$68.06 \$102,090.00 \$50.00	222		1	L.S.				\$195,086.51		\$1,000,000.00	\$1,000,000.00	* ,	* /	* ,			*,	
	223	8DMRR0B		L.S.	Maintenance and Protection of Railroad Traffic (NO-BID)	\$39,000.00	\$39,000.00	\$39,000.00	\$39,000.00	\$39,000.00		\$39,000.00	+,	\$39,000.00		\$39,000.00	400,000.00	400,000.00
Base Total \$88,875,642.80 \$89,890,000.00 \$94,437,700.00 \$96,362,515.00 \$97,434,406.00 \$99,073,377.71	224	3AVTABC	1500	C.Y.	Aggregate Base Course, Variable Thickness			\$56.24		\$160.00	.,	\$35.00	4 - 7	\$100.00	*,	\$68.06	* - /	\$50.00
			-			Base Total	\$88,875,642.80		\$89,890,000.00		\$94,437,700.00		\$96,362,515.00		\$97,434,406.00		\$99,073,377.71	

				ruction Co., Inc.	E.E. Cruz Company, Inc.		
Item No.	Unit Code 1D01SDP	Qty 1	UOM L.S.	Description Shop Drawing Preparation	\$1,000,000.00	\$150,000.00	\$150,000.00
2	1D01SDF	1.00	L.S.	Construction Layout	\$500,000.00	\$800,000.00	\$800,000.00
3	1D10MOB	1.00	L.S.	Mobilization	\$4,000,000.00	\$5,000,000.00	\$5,000,000.00
4	1G01SCH	1.00	L.S.	Progress Schedule	\$50,000.00	\$75,000.00	\$75,000.00
5	1HFP0B	1.00	L.S.	Fuel Price Adjustment (NO-BID)	\$10,100.00	\$10,100.00	\$10,100.00
<u>6</u> 7	2B02REX 2B15STS	115.00 50.00	C.Y.	Roadway Excavation, Earth Stripping Topsoil	\$11,500.00 \$4,000.00	\$180.00 \$190.00	\$20,700.00 \$9,500.00
8	2C01EMB	10.00	C.Y.	Embankment, Common	\$1,500.00	\$315.00	\$3,150.00
9	2E01FEX	168.00	C.Y.	Foundataion Excavation	\$12,936.00	\$80.00	\$13,440.00
10	2E01CAL	34.00	C.Y.	Coarse Aggregate Layer	\$952.00	\$220.00	\$7,480.00
11	2G00022	16.00	Ton	Riprap Stone Scour Hole, 12" Thick, D50=6"	\$3,168.00	\$200.00	\$3,200.00
12 13	2H00007 2K01TPF	3,747.00 1,537.00	L.F.	Heavy Duty Silt Fence, Black Temporary Orange Plastic Fence	\$29,976.00 \$9,222.00	\$10.00 \$1.00	\$37,470.00 \$1,537.00
14	2H00016	1,537.00	Each	Inlet Filter, Type 2	\$9,222.00	\$385.00	\$41,965.00
15	2M00011	86	Each	Testing of Soils for Waste Classification	\$131,150.00	\$850.00	\$73,100.00
16	5ZO0018	1,686.00	Ton	Off-Site Disposal of ID-27 Waste	\$84,300.00	\$50.00	\$84,300.00
17	3BAPA0B	1	L.S.	Asphalt Price Adjustment (NO-BID)	\$5,000.00	\$5,000.00	\$5,000.00
18	3B26TAC	200	GAL	Tack Coat	\$1,200.00	\$6.50	\$1,300.00
19 20	3B30CLS 3B31CLS	12,000.00 24,000.00	L.F.	Cleaning Inside Shoulders Cleaning Outside Shoulders	\$6,000.00 \$12,000.00	\$1.00 \$1.00	\$12,000.00 \$24,000.00
21	3B45HPP	10.00	Ton	High Performance Cold Patch	\$3,000.00	\$1,200.00	\$12,000.00
22	3B32HMA	385	Ton	Hot Mix Asphalt 12.5M 76 Surface Course	\$117,425.00	\$310.00	\$119,350.00
23	3B00002	5.00	Ton	Hot Mix Asphalt 19M64 Intermediate Course	\$4,000.00	\$210.00	\$1,050.00
24	3B33HMA	7.00	Ton	Hot Mix Asphalt 25M 64 Base Course	\$5,600.00	\$210.00	\$1,470.00
25	3C01BRS	550.00	S.Y.	Berm Surfacing, 3 Inches Thick	\$19,250.00	\$35.00	\$19,250.00
26 27	3A00001 3D05APS	20.00 141.00	S.Y.	Aggregate Base Course, 7" Thick Bridge Approach Slab	\$780.00 \$148,050.00	\$180.00 \$415.00	\$3,600.00 \$58,515.00
28	3E20PMR	2390	S.Y.	Pavement Removal, Variable Depth	\$148,050.00	\$40.00	\$95,600.00
29	3N00001	19610	S.Y.	Full Depth Concrete Pavement, Precast	\$9,805,000.00	\$450.00	\$8,824,500.00
30	4A01STC	74.00	C.Y.	Concrete In Substructure Above Footings	\$47,360.00	\$740.00	\$54,760.00
31	4A15DGR	1,300.00	Each	Drill and Grout Reinforcement Bars	\$49,400.00	\$25.00	\$32,500.00
32	4A20LMC	708.00	C.Y.	Latex Modified Concrete Overlay (Variable Depth)	\$1,062,000.00	\$1,450.00	\$1,026,600.00
33 34	4A11RFS 4A55CPS	2,206,000.00 17,120.00	LB S.F.	Reinforcement Steel, Epoxy Coated Concrete Penetrating SealerTreatment	\$3,639,900.00 \$29,104.00	\$1.50 \$1.00	\$3,309,000.00 \$17,120.00
35	N4A0003	1,200.00	L.F.	Strip Seal Expansion Joints, 4" Movement	\$816,000.00	\$440.00	\$528,000.00
36	N4A0001	27,938.00	S.Y.	Sawcut Grooved Deck Surface	\$90,798.50	\$5.00	\$139,690.00
37	4A12RBC	44,000.00	Each	Reinforcement Bar Coupler	\$1,804,000.00	\$65.00	\$2,860,000.00
38	N4A0007	2,000.00	L.F.	Methacrylate Crack Sealer	\$6,000.00	\$2.50	\$5,000.00
39	4C01SSC	51,030.00	Each	Shear Connectors	\$459,270.00	\$6.00	\$306,180.00
40 41	4C06SSL 4H156LEB	27300 84.00	LB Each	Structural Steel Laminated Elastomeric Bearing, Type 1	\$81,900.00 \$2,184,000.00	\$20.00 \$15,000.00	\$546,000.00 \$1,260,000.00
42	4H157LEB	24.00	Each	Laminated Elastomeric Bearing, Type 1 Laminated Elastomeric Bearing, Type 2	\$720,000.00	\$15,000.00	\$360,000.00
43	4H158LEB	42	Each	Laminated Elastomeric Bearing, Type 3	\$1,050,000.00	\$15,000.00	\$630,000.00
44	4K00CEW	1.00	L.S.	Containment, Environmental and Worker Protection	\$8,375,000.00	\$6,800,000.00	\$6,800,000.00
45	4K01RPS	1.00	L.S.	Repainting Steelwork No. 1	\$16,338,000.00	\$12,500,000.00	\$12,500,000.00
46 47	4K02RPS 4K03RPS	1.00	L.S. L.S.	Repainting Steelwork No. 2 Repainting Steelwork No. 3	\$400,000.00 \$300.000.00	\$350,000.00	\$350,000.00
48	4K03RPS 4K09PES	30582	S.F.	Painting Steelwork No. 3 Painting Existing Steelwork	\$672,804.00	\$300,000.00 \$20.00	\$300,000.00 \$611,640.00
49	4K03RSP	1	L.S.	Temporary Storage and Recycling/ Disposal of Hazardous Surface Preparation Waste	\$150,000.00	\$60,000.00	\$60,000.00
50	4L07SCU	32.00	Each	Scuppers	\$249,600.00	\$1,200.00	\$38,400.00
51	4L00006	205.00	L.F.	8" Drainage Pipe, Galvanized Steel	\$51,250.00	\$385.00	\$78,925.00
52	4L09FDP8	254.00	L.F.	8" Drainage Pipe, Fiberglass	\$43,180.00	\$370.00	\$93,980.00
53	4L05CBD	1000	L.F.	Clean Bridge Drainage System	\$24,000.00	\$27.00	\$27,000.00
54 55	4L08WIG 4L03BDI	115 2	Each Each	Weld Existing Inlet Grate Raise Bridge Drop Inlet	\$28,750.00 \$1,200.00	\$64.00 \$590.00	\$7,360.00 \$1,180.00
56	4Q02BDR	108	S.Y.	Concrete Deck Replacement	\$1,200.00	\$3,500.00	\$378,000.00
57	4Q03BDR	364.00	S.Y.	Concrete Deck Replacement with Catches	\$546,000.00	\$1,500.00	\$546,000.00
58	4Q06BDR	15	L.F.	Pavement Riser Repair	\$3,000.00	\$5.00	\$75.00
59	4Q07BDR	11000	S.Y.	Removal of Asphalt Surfacing and Scarify Concrete	\$275,000.00	\$15.00	\$165,000.00
60 61	4Q08BDR 4Q09BDR	780 250	S.Y. S.F.	Removal of Existing Surfacing Removal and Replacement of Existing Surfacing	\$23,400.00 \$4,750.00	\$20.00 \$30.00	\$15,600.00 \$7,500.00
61	4Q09BDR 4Q22BDR	15450	S.F. S.Y.	Removal and Replacement of Existing Surfacing Removal of SIP Metal Forms	\$4,750.00 \$200,850.00	\$30.00 \$4.00	\$7,500.00 \$61,800.00
63	4Q24BDR	5,000.00	L.F.	Reinforcement Steel, Field Anti - Corrosion Coating	\$20,000.00	\$12.00	\$60,000.00
64	4Q30S01	11,800.00	S.F.	Spall Repair, Type 1	\$861,400.00	\$60.00	\$708,000.00
65	4Q30S02	200.00	S.F.	Spall Repair, Type 2	\$16,000.00	\$35.00	\$7,000.00
66	4Q30S04	100.00	S.F.	Spall Repair, Type 4	\$17,900.00	\$190.00	\$19,000.00
67 68	4Q30S05 4Q30S5A	200.00 400.00	S.F.	Spall Repair, Type 5 Spall Repair, Type 5A	\$14,600.00 \$156,000.00	\$75.00 \$70.00	\$15,000.00 \$28,000.00
68	4Q30S5A 4Q30S06	300.00	S.F.	Spall Repair, Type 6	\$156,000.00 \$60,000.00	\$70.00 \$140.00	\$28,000.00 \$42,000.00
70	4Q30S6A	300.00	S.F.	Spall Repair, Type 6A	\$54,000.00	\$140.00	\$42,000.00
71	4Q00005	10	L.F.	Tooth Joint Riser Plate Repair	\$11,500.00	\$500.00	\$5,000.00
72	4Q50DJR	183	L.F.	Deck Joint Reconstruction	\$91,500.00	\$320.00	\$58,560.00
73	4Q15BDR	19800	S.Y.	Removal of Existing Concrete Deck	\$4,752,000.00	\$550.00	\$10,890,000.00
74	4Q00001	22,887.00	S.Y.	Catches Europeining Installation and Removal of Temporary Catch	\$2,609,118.00	\$90.00	\$2,059,830.00
75 76	4Q00016 N4Q0001	725.00 1.00	L.F. L.S.	Furnishing, Installation and Removal of Temporary Catch Concrete Repair Material	\$129,050.00 \$16,000.00	\$260.00 \$40,000.00	\$188,500.00 \$40,000.00
77	4QFAE0B	1.00	C.P.	Force Account for Emergency and Routine Bridge Repairs (NO-BID)	\$600,000.00	\$600,000.00	\$600,000.00
78	4Q01TMP	4,509.00	S.F.	Temporary Deck System	\$450,900.00	\$30.00	\$135,270.00
79	4Q25BDR	450	L.F.	Limited Additional Concrete Removal	\$25,650.00	\$22.00	\$9,900.00
80	4R01SC1	100	S.F.	Repair Spalled Concrete, Type 1 - Abutment	\$25,000.00	\$250.00	\$25,000.00
81	4R02SC1	6200	S.F.	Repair Spalled Concrete, Type 1 - Pier	\$1,457,000.00	\$220.00	\$1,364,000.00
82 83	4R01SC2 4R02SC2	50 300	S.F.	Repair Spalled Concrete, Type 2 - Abutment Repair Spalled Concrete, Type 2 - Pier	\$17,500.00 \$90,000.00	\$345.00 \$335.00	\$17,250.00 \$100,500.00
84	4R02SC2 4R01RSC	20.00	S.F.	Vertical Spall Repair	\$9,600.00	\$250.00	\$100,500.00
	4R26RBG	470	Each	Reconstruct Bearing Area	\$799,000.00	\$5,000.00	\$2,350,000.00

Base Line Item Detail					ruction Co., Inc.	E.E. Cruz Company, Inc.		
Item No.	Unit Code	Qty	UOM	Description				
176	5ZMFAS0B	1	C.P.	Force Account for Snow Removal (NO-BID)	\$52,000.00	\$52,000.00	\$52,000.0	
177	5ZO0060	49,000.00	S.Y.	Micro-Milling Deck Surface	\$465,500.00	\$7.00	\$343,000.0	
178	5ZO0131	1.00	L.S.	Ride Quality Testing for Micro-Milled Deck Surfaces	\$30,000.00	\$25,000.00	\$25,000.0	
179	5H38CMB	655	L.F.	Concrete Median Barrier, Roadway, Precast	\$65,500.00	\$345.00	\$225,975.0	
180	6A03RNC	9,000.00	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$126,000.00	\$15.00	\$135,000.0	
181	6A04MLC	36,300.00	L.F.	#4 A.W.G. Multiple Lighting Cable	\$50,820.00	\$2.50	\$90,750.0	
182	6A13RNC	2775	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 80)	\$41,625.00	\$18.00	\$49,950.0	
183	6A06MLC	5,000.00	L.F.	#6 A.W.G. Multiple Lighting Cable	\$10,000.00	\$2.00	\$10,000.0	
184	6A11MLC	300.00	L.F.	#10 A.W.G. Multiple Lighting Cable	\$960.00	\$2.00	\$600.0	
185	6A06GWR	7,800.00	L.F.	#6 A.W.G. Ground Wire	\$7,410.00	\$2.00	\$15,600.0	
186	6A08GWR	600	L.F.	#8 A.W.G. Ground Wire	\$480.00	\$2.00	\$1,200.0	
187	6A10GWR	100	L.F.	#10 A.W.G. Ground Wire	\$320.00	\$2.00	\$200.0	
188	6A24JBC	2	Each	Junction Box, Type C	\$4,300.00	\$2,500.00	\$5,000.0	
189	6A21JF1	29	Each	Junction Box Foundation, Type 1	\$71,050.00	\$2,500.00	\$72,500.0	
190	6A10RLM	4	Each	Lighting Manhole	\$39,400.00	\$10,500.00	\$42,000.0	
191	6A65RAS	1	Lump	Remove and Salvage Existing Facilities	\$109,000.00	\$95,000.00	\$95,000.0	
192	6B00088	11.00	Each	Concrete Base Foundation, Type I For Lighting Standard	\$23,375.00	\$2,500.00	\$27,500.0	
193	6A26JBR	1.00	Each	Junction Box Reconstruction	\$3,645.00	\$2,500.00	\$2,500.0	
194	6B26LMG	14.00	Each	Lighting Standard, Type L-MG-26	\$32,200.00	\$2,000.00	\$28,000.0	
195	6B45LMG	1	Each	Lighting Standard, Type L-MG-40	\$3,170.00	\$2,500.00	\$2,500.0	
196	6B40LMG2	25.00	Each	Lighting Standard, Type L-MG2-40	\$72,800.00	\$2,500.00	\$62,500.0	
197	6B00110	9	Each	Type LP1 Luminaire	\$11,898.00	\$1,500.00	\$13,500.0	
198	6B00144	4	Each	Type LP3 Luminaire	\$6,040.00	\$1,500.00	\$6,000.0	
199	6B00192	51	Each	Type LP8 Luminaire	\$110,670.00	\$2,000.00	\$102,000.0	
200	6B00193	1	Each	Type LP9 Luminaire	\$2,200.00	\$2,000.00	\$2,000.0	
201	N6B0007	1	L.S.	Underbridge Lighting Installation, Str. No. 1	\$9,730.00	\$15,500.00	\$15,500.	
202	6J00160	1	L.S.	Electrical Work at Location No. 1	\$301,494.38	\$350,000.00	\$350,000.	
203	7C01TOP	1,050.00	S.Y.	Topsoil	\$10,500.00	\$10.00	\$10,500.0	
204	7D01SED	370	S.Y.	Seeding, Type A	\$740.00	\$2.00	\$740.0	
205	7D08SED	700.00	S.Y.	Seeding, Type L	\$1,400.00	\$4.00	\$2,800.	
206	7F01SSM	700.00	S.Y.	Soil Stablization Matting	\$2,100.00	\$30.00	\$21,000.0	
207	8A01MPT	1.00	L.S.	Furnishing Traffic Control Devices	\$1,000,000.00	\$705,000.00	\$705,000.0	
208	8A06MPT	65.00	Barr	Repair Temporary Impact Attenuators	\$26,000.00	\$600.00	\$39,000.0	
209	8A07MPT	4	Each	Repair Truck Mounted Impact Attenuators	\$4,000.00	\$8,500.00	\$34,000.0	
210	8A30MPT	5.00	Each	Furnishing Portable Variable Message Sign	\$75,000.00	\$14,500.00	\$72,500.0	
211	N8A0001	18,620.00	L.F.	Furnishing Precast Concrete Construction Barrier	\$260,680.00	\$25.00	\$465,500.0	
212	N8A0002	36,120.00	L.F.	Placing and Removing Precast Concrete Construction Barrier	\$830,760.00	\$15.00	\$541,800.0	
213	N8A0003	2,600.00	L.F.	Resetting Precast Concrete Construction Barrier	\$9,750.00	\$8.00	\$20,800.	
214	8B15MPT	13000	M.H.	Traffic Protection Patrol	\$325,000.00	\$100.00	\$1,300,000.	
215	8B17MPT	7	Each	Furnishing Truck with Mounted Attenuator	\$70,000.00	\$24,500.00	\$171,500.	
216	8B18MPT	5.00	Each	Furnishing Temporary Impact Attenuator	\$75,000.00	\$4,500.00	\$22,500.0	
217	8B19MPT	600.00	M.H.	Furnishing Truck with Mounted Attenuator for Engineer's Use	\$60,000.00	\$150.00	\$90,000.	
218	8B20MPT	15	Each	Placing and Removing Temporary Impact Attenuator	\$15,000.00	\$2,100.00	\$31,500.	
219	8B26MPT	190	Each	Installation, Maintenance, and Removal of Lane Closing	\$665,000.00	\$7,000.00	\$1,330,000.0	
220	8B34MPT	36000	L.F.	Modular Glare Screen System	\$360,000.00	\$20.00	\$720,000.0	
221	8CPTD0B	1	L.S.	Police Traffic Directors (NO-BID)	\$100,000.00	\$100,000.00	\$100,000.	
222	8C100SCL	1	L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$100,000.00	\$125,000.00	\$125,000.0	
223	8DMRR0B	1.00	L.S.	Maintenance and Protection of Railroad Traffic (NO-BID)	\$39,000.00	\$39,000.00	\$39,000.0	
224	3AVTABC	1500	C.Y.	Aggregate Base Course, Variable Thickness	\$75,000.00	\$85.00	\$127,500.0	
				Base Total	\$105,749,923,38		\$107,369,246	